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Time: 03 Hours Maximum Marks: 100

Instructions: (i) Attempt all questions.
(ii) ESP sets have choice.

Q.1 Read the following extracts carefully, choose any one extract and
answer the questions given below —
For the last fifty years the globe has been warming up. It is true that the
average temperature rise is only about two degrees, but that has been
enough to start, the glaciers receding in many parts of the world. A rise

of one degree per generation is a large increase. Nature seldom.

Question:-

(i)  What has been happening with the globe? (1)

(i)  What is the rise in average temperature of our globe? (1)

(i) How has the rise in average temperature affected the glaciers? (1)

(iv) What kind of temperature rise per generation is considered a large (1)
increase?

(v) ‘Theglobe’means ..................... (1)
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Q.2

Q.3

OR

Tembu, who was twelve, did not always sleep with his father at the
station, for he had also to help in the home, where his mother and his
small sister were usually alone. They lived in a small tribal village on the
outskirts of the forest, about three miles from the station. Their small rice
fields did not provide them with more than a bare living and Baldeo
considered himself lucky to have got the job of Khalasi at the small
wayside signal stop.

Questions —

(i) How old was Tembu?

(i)  Where did Tembu’s mother and sister live?

(iii)  Where was the small tribal village located?

(iv) How far was the small tribal village from the station?

(v)  Why did Baldeo considered himself lucky?

List atleast three ways in which our ancient culture deteriorated.
OR

Why had the intruder come to Gerrard’s house?

Answer any three of the following questions in about 20 — 50 words —

(@) What made the strain of loneliness vanish from Jagdish Babu’s
face?

(b) How did the doctor realise that he was not looking at his own
watch?

(¢) What did Ved’s mother think, had caused her son’s blindness?
Which words in the text point this out?

(d)  Why were Aradhana’s family members proud of her?

[502] M-12 Page 2 of 8
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Q.4 Answer the questions in 20 — 25 words —
What did the holy man do? Was it effective?

What is meant by “Where Knowledge is free?

()
(b)
Q.5 (a)

[502] m-12

Fill in the blanks with the correct alternative given in the

brackets —
(i) Sinhasthais ................... auspicious occasion. (a, an, the)
(i) Dilip Kumar is one of the ......cccooiiiiiiiiiinnnnnn. actors.

(great, greater, greatest)

Everybody must stand ................... the queue. (in, into, on)
[prefermilk ..o, tea. (than, to, from)
He said, “........coienininis you win, the election!” (May, Can)

Do as directed —

You bring nice apples. (make negative)

She replied my letter. (make interrogative)

The postman drags bags. (make into past indefinite)

He ran so fast that he may catch the bus. (Rewrite using

to + infinitive)

a story / last night / told / grandmother. (Rearrange the words

to make a meaningful sentence)

Combine the sentences as instructed in the questions —

(i)
(ii)

(i)

(iv)

It was not true. What he said. (Combine using a noun clause)
She did not wash dishes.

She did not clean the room. (Combine using nor)

If you do not take a taxi, you cannot reach the station in time.
(Rewrite using ‘Unless’)

This is a book. | want this book. (Combine using relative
clause)

Cars have become very costly. | cannot purchase it.

(Combine using too...... to)
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Q.6

Q.7

Q.8

Write a paragraph of about 100 — 120 words on any one of the
following —

(i)  Any Great Leader

(i)  Science: its Uses and Abuses

Write a letter to the editor of the Free Press Journal, Delhi in about 120
words drawing attention towards the insanitary condition of your locality.
Identify the main idea(s) and supporting details in the following
paragraph. Make notes and give a heading and use as many
abbreviations and symbols that you can.

Bodily Labour is of two kinds, either that which a man submits to for his
livelihood or that which he undergoes for his pleasure. In the latter case,
the name of the labour is changed to that of exercise. It differs from
ordinary labour as its motive is different. The body is a system of tubes
and glands. The tubes and glands are fitted to one another in so
wonderful manner as to make a proper engine for the soul to work with.
This description does not only include bones, veins and nerves and
arteries but also every muscle. This general idea of a human body lets
us see how absolutely necessary labour is for the body. There must be
frequent motions to mix digest and separate the juice contained in it.
Labour is also necessary for cleaning the tubes and glands and to make
their solid parts firm and lasting. Labour or exercise helps nature in
secret distribution. Without it the body cannot maintain its strength nor
the soul acts with cheerfulness.

We might here mention the effects which this has upon the powers
of the mind, keeping the understanding clear and imagination
untroubled. There are laws of union between soul and body. Had not
exercise been absolutely necessary for our wellbeing, nature would

have not made the body so proper for it.

[502] M-12 Page 4 of 8
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Q.9

Q.10

The following paragraph has five mistakes in grammar, spot the errors
and write them in correct form —

It was a long ride to the Sorely farm and the sight of a man walking alone
the country road, as seen just ahead by the lights of the car, was
welcome relief to the doctor. He slowed down and looked at the man
walking along with difficulty against the wind, a little package over his
arm. Coming alongside Doctor Benson stopped and invite the man to
ride. The man got in.

Read the following passage carefully and answer the questions that
follow—

“The literature of Swami Vivekananda has multiplied my sense of
patriotism a thousand times” said Mahatma Gandhi. Rabindranath
Tagore said, “If you want to understand India, try to understand Swami
Vivekananda”. By these words, we can easily say and understand the
huge personality of this great saint of the later 19" century. Swami
Vivekananda was born on 12" January, 1863 in Calcutta. In his
childhood and boyhood, he was Biseshwar (Bile) and Narendra (Naren).
He became the disciple of a great saint Ram Krishna Paramhansa and
was given the name of Swami Vivekananda. He proved himself to be
the most dazzling star in the parliament of Religions, Chicago in the year
1893. All young generation must try to understand Swamiji, if we want
to make our country free from corruption, superstitions, idleness, we
must make him our model. He established the Ramakrishna Mission,
Math at Belur. It gives light and inspiration not only to India but the whole
world. He loved all religions. He said, “The whole universe is ours to
enjoy. But want nothing. To want is weakness. Want makes us beggars

and we are the sons of the king, not of a beggar”.

[502] M-12 Page 5 of 8
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Q.11

Questions:

(i)  Name the two great men who wrote words in the praise of Swami
Vivekananda.

(i)  When was Swami Vivekananda born?

(iii)  What were Swami Vivekananda'’s early names?

(iv) Who was Swami Vivekananda’s Guru?

(v)  Why must we make Swami Vivekananda our model?

Read the following passage carefully and answer the questions given

below —

The great advantage of early rising is the good start it gives us to our

day’s work. The early riser has done a large amount of hard work before

the other men have got out of bed. In the early morning, the mind is

fresh, and there are few sounds or other distractions, so that work done

at that time is generally well done. In many cases, the early riser also

finds time to take some exercise in the fresh morning air, and this

exercise supplies him with a fund of energy that will last until the

evening. By beginning so early, he knows that he has plenty of time to

do thoroughly all the work he can be expected to do and is not tempted

to hurry over many part of it. All his work being finished in good time, he

has a long interval of rest in the evening before the timely hour when he

goes to bed. He gets to sleep several hours before midnight, at the time

when sleep is most refreshing, and after a sound night’s rest, rises early

next morning in good health and spirits for the labours of a new day.
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(2)

2)
2)
2)
2)



Questions:

(i)

Q12  (A)

[502] m-12

What is the great advantage of early rising?

Why is the work done in the early morning generally well done?
What does the early riser find time for?

What does the early riser have before he goes to bed?

When is sleep most refreshing?

ESP RECEPTIONIST

Rewrite the following first as request and then write out replies to

each request —

(i)  Shut the door

(i)  Type the memo

(i) Let me start first

(iv) Don’t worry

Answer the following questions in brief —

(i)  List some of the materials that may help a receptionist in her
work.

(i)  Write down the three duties of a receptionist.

(i) What are the special skills required for managing a
telephone?
(iv) What are special qualities that a receptionist should have?

Page 7 of 8
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Q.12

[502] m-12

(A)

OR

ESP SCIENCE

Answer the following questions —

(i)  Why is it not advisable to water the plants at sunset?

(i)  What is emotional stress? How does it affect the body?

(iii)  What is radioactivity?

(iv) How can chain reaction be controlled?

(v)  What are the properties required of a refrigerator?

How will you do the following?

(i)  Lubricating the chain of a bicycle.

(i)  Repairing the punctured tube.

(iii)  Renovation of a bicycle.

(iv) Maintenance of the steering of a car.

(v) Taking care of the brakes of a bicycle.
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